
Integration: 3Capter 

Indefinite Integral -1 

:Evaluate the integralQ1) 

b) ∫ 𝑥
5

7⁄   𝑑𝑥 a)∫ 𝑥8 𝑑𝑥 

d)∫
1

𝑥6  𝑑𝑥  c) ∫ 𝑥3 √𝑥 𝑑𝑥 

 f)∫ (𝑥
−1

2⁄ − 3𝑥
7

5⁄ +
1

9
) 𝑑𝑥 e)∫ (5𝑥 +

2

3𝑥5) 𝑑𝑥 

h)∫ (
1

√1−𝑥2
+

4

1+𝑥2) 𝑑𝑥 g)∫
10

𝑥
3

4⁄
− √𝑥3 +

4

√𝑥
)𝑑𝑥 

Q2)Evaluate: 

b) ∫(2 + 𝑥2)2  𝑑𝑥 a)∫ 𝑥(1 + 𝑥3) 𝑑𝑥 

d)∫
𝑥5+2𝑥2−1

𝑥4  𝑑𝑥  c) ∫ 𝑥
1

3⁄  (2 − 𝑥)2 𝑑𝑥 

 f)∫(𝑐𝑠𝑐2𝑥 − 𝑠𝑒𝑐𝑥 𝑡𝑎𝑛𝑥)𝑑𝑥 e)∫(3 𝑠𝑖𝑛𝑥 − 2𝑠𝑒𝑐2𝑥)𝑑𝑥 

Q3)Evaluate: 

b)∫ √𝑥 𝑑𝑥
2

1
  a)∫ 2𝑥 𝑑𝑥

2

1
 

d)∫ 𝑥 𝑑𝑥
3

0
  c) ∫ (1 + 𝑐𝑜𝑠𝑥)𝑑𝑥

𝜋
2⁄

−𝜋
2⁄

 

  f)∫ 𝑐𝑜𝑠𝑥 𝑑𝑥
𝜋

0
 e)∫ (1 −

𝑋

2

2

0
)𝑑𝑥 

   h)∫
1

𝑥

𝑒2

𝑒
𝑑𝑥 g)∫ |2𝑥 − 3|𝑑𝑥

2

−1
 

 i)∫ 𝑒𝑥 𝑑𝑥
2

1
 

 



Integration by substitution-2 

Q1)Evaluate: 

b) ∫ 𝑐𝑜𝑠3𝑥 𝑠𝑖𝑛𝑥  𝑑𝑥 a)∫ 2𝑥(𝑥2 + 1)23 𝑑𝑥 

d)∫
3𝑥

√4𝑥2+5
 𝑑𝑥  c) ∫

1

√𝑥
𝑠𝑖𝑛√𝑥 𝑑𝑥 

  f)∫ 𝑥√1 + 2𝑥2𝑑𝑥 e)∫ 𝑠𝑒𝑐2(4𝑥 + 1)𝑑𝑥 

 h)∫ 𝑥2√1 + 𝑥𝑑𝑥 g)∫(1 + 𝑠𝑖𝑛𝑡)9𝑐𝑜𝑠𝑡 𝑑𝑡 

 i)
5𝑥4

(𝑥5+1)2 𝑑𝑥 

Q2)Evaluate: 

b) ∫ 𝑥3√5 + 𝑥4  𝑑𝑥 a)∫ sin (7𝑥) 𝑑𝑥 

d)∫
𝑥

√4−5𝑥2
 𝑑𝑥  c) ∫ sec(4𝑥) tan (4𝑥) 𝑑𝑥 

 f)∫ 𝑐𝑜𝑠4(3𝑡) sin (3𝑡)𝑑𝑡 e)∫
𝑥2+1

√𝑥3+3𝑥
𝑑𝑥 

 h)∫ 𝑥 √4 − 𝑥 𝑑𝑥 g)∫
𝑥

√2𝑥+1
 𝑑𝑥 

 i)
sin (5

𝑥⁄ )

𝑥2 𝑑𝑥 

Q3)Evaluate: 

b) ∫ 𝑡√7𝑡2 + 12  𝑑𝑡 a)∫
𝑠𝑒𝑐2(√𝑥)

√𝑥
 𝑑𝑥 

  d)∫
1

1+9𝑥2  𝑑𝑥  c) ∫ 𝑥3√5 + 𝑥4 𝑑𝑥 

f)∫(2𝑥 + 7)(𝑥2 + 7𝑥 + 3)
4

5⁄ 𝑑𝑥 e)∫
𝑒𝑥

√1−𝑒2𝑥
𝑑𝑥 

 



Integration by Parts-3 

Q1)Evaluate: 

b) ∫ 𝑥 𝑒3𝑥  𝑑𝑥 a)∫ 𝑥𝑒−2𝑥 𝑑𝑥 

d) ∫ 𝑥2 𝑐𝑜𝑠𝑥 𝑑𝑥 c) ∫ 𝑥2𝑒𝑥 𝑑𝑥 

  f)∫ 𝑥
1

2⁄  ln(𝑥) 𝑑𝑥 e)∫ 𝑥 𝑠𝑖𝑛(2𝑥) 𝑑𝑥 

 h)∫
ln 𝑥

√𝑥
 𝑑𝑥 g)∫(𝑙𝑛𝑥)2 𝑑𝑥 

 j)∫ ln (𝑥2 + 4)  dx i)∫ ln(3𝑥 − 2) 𝑑𝑥 

l)∫ 𝑒𝑥 𝑠𝑖𝑛𝑥 𝑑𝑥 k)∫ 𝑠𝑖𝑛−1𝑥 𝑑𝑥 

n)∫ 𝑥3𝑒𝑥2
 𝑑𝑥 m)∫ sin(𝑙𝑛𝑥) 𝑑𝑥 

p)∫ 𝑥2 𝑙𝑛𝑥 𝑑𝑥
𝑒

1
 o)∫ 𝑥 𝑒2𝑥 𝑑𝑥

2

0
 

 g)∫ ln (
1

−1
𝑥 + 2) 𝑑𝑥 

Q2)Evaluate: 

b) ∫ 𝑠𝑒𝑐−1√𝑥 𝑑𝑥
4

2
 

a)∫  𝑠𝑖𝑛−1𝑥 𝑑𝑥
√3

2
⁄

0
 

  d)∫
𝑥𝑒𝑥

(𝑥+1)2  𝑑𝑥  c) ∫ 𝑥 𝑠𝑒𝑐−1𝑥 𝑑𝑥
2

1
 

f)∫ 𝑐𝑜𝑠−1(2𝑥)𝑑𝑥 e)∫ 𝑥 𝑡𝑎𝑛2𝑥  𝑑𝑥 

 

 

 

 



Integral of Rational Functions-4 

Q1)Evaluate: 

b) ∫
5

𝑥 (𝑥2−4)
  𝑑𝑥 a)∫

3𝑥−1

(𝑥−3) (𝑥+4)
𝑑𝑥 

d) ∫
1

𝑥2−3𝑥−4
 𝑑𝑥 c) ∫

3𝑥

(𝑥−1)(𝑥2+6)
 𝑑𝑥 

  f)∫
2𝑥2−3𝑥

(𝑥2+1)(3𝑥+2)
𝑑𝑥 e)∫

−3

(𝑥+1)(2𝑥−1)
 𝑑𝑥 

 h)∫
2𝑥−3

𝑥2−3𝑥−10
 𝑑𝑥 g)∫

1

𝑥2−6𝑥−7
 𝑑𝑥 

 j)∫
3𝑥2−𝑥+1

𝑥3−𝑥2  dx i)∫
𝑥5+𝑥2+2

𝑥3−𝑥
𝑑𝑥 

l)∫
2𝑥2−1

(4𝑥−1)(𝑥2+1)
 𝑑𝑥 k)∫

1

𝑥3+2𝑥
 𝑑𝑥 

m)∫
𝑥4+6𝑥3+10𝑥2+𝑥

𝑥2+6𝑥+10
𝑑𝑥 

 


